KENEHFHEEH
¢ 5 0FY>2aCBVT. 2MAMTL, 6 0 0nifEAENLIBS

F1 ROFTKENEZAEULEES (1 MABDOKECELEFTEIS—>8 0 0m)

-E[MOE 2 5mm

KEE TR KERIE
BHARSE 0 m ~ 10 m 10 ™ - 2,490 M
wENE 11 m ~ 20 m 10 m| x 155 H = 1,550 H
21 m ~ 50 m 30 m| x 185 H 5550 H
50 m -~ 100 m 50 m| x 215 H 10,750 H
101 m -~ 500 m 400 m| x 235 H 94,000 M
501 m ~ 300 m| x 265 H = 79,500 M
gt 800 m B 193,840 M
EOFE40mMmm--50mm EMOE 4 0mm EOE 5 0mm
K AR BT IKERE IKERE
BARE - - - 10,200 15,200 M
wENE 1 m ~ 20 m 20 m| x 155 H = 3,100 H 3,100 H
21 m ~ 50 m 30 m| x 185 H 5,550 H 5,550 H
51 m -~ 100 m 50 m| x 215 H 10,750 M 10,750 H
101 M ~ 500 m| 400 m|x 235 M 94,000 M 94,000 M
501 m ~ 300 M| x 265 @ = 79,500 F 79,500 M
gt 800 mi gt 203,100 H 208,100 H
EOE2 5mm 193,840 x 2MA x 1. 1 CHE®) = 426,448 H
RO&E4 0mm 203,100 x 2mA x 1. 1 (E&EB) = 446,820 M@
EOE50mm 208,100 @ x 2hA x 1. 1 CHER) = 457,820 H
T2 FAA-NOFE2 0 MmO SIUODOWNT, HHEHEETETKERESZETEULES
(1M BHEHOKEICELETEIS—>8 0 0m)
KE | RENETEM KERE
EARSE 0Om~ 10mM-> 10 M x5 B= 500 m|500 m - 1,780 A x 50 F = 89,000 M
fERE | 11 mM~ 20mM—> 10 M x50 F = 500 m| 300 m|x 155 [ = 46,500 M
20 M~ 50 M- 30 mx5 F= 1500 m| - mlx 185 [ = 0/
50 m~ 100 M- 50 m x50 F = 2500 m| - mlx 215 @ = 0 [
101 m ~ 500 m — 400 m x 50 F = 20,000 m| - nm|x 235 A = 0/
501 m ~ — LRAIKEEBRKE25,001mME) | - mlx 265 M = 0 M
&t 800 m &t 135,500 M
HEHEGTERE 135,500 x 2mhA x 1. 1 CH&ER) = 298,100 H



